-.

SAVI GROUP

RC203A
BOORMACHINE 6 MM

Deze RC203A van RODAC is een Lichte en zeer krachtige boormachine en geschikt voor iedere klus. Deze pneuma-
tische boormachine is uitgevoerd met een kunststof snelspanboorkop van 7 mm.

BOHRMASCHINE 6 MM

Dieser RC203A von RODAC ist ein Leichter und sehr Leistungsstarker Bohrer, der fir jede Aufgabe geeignet ist. Diese
Druckluftbohrmaschine ist mit einem Kunststoff Schnellspannfutter von 7 mm ausgestattet.

PERCEUSE 6 MM

Cette RC203A de RODAC est une perceuse légére et trés puissante qui convient a tous les travaux. Cette perceuse
pneumatique est équipée d'un mandrin de pergage en plastique a serrage rapide de 7 mm.

DRILL 6 MM

This RC203A from RODAC is a Light and very powerful drill and suitable for any job. This pneumatic drill is equipped
with a plastic quick-clamp drill chuck of 7 mm.

SV

CREATEUR D'OUTILS

Verklaring van conformiteit

Wij, de firma Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Nederland, verklaren
hiermee dat het hier vermelde gereedschap, waarop deze verklaring betrekking heeft, in overeenstem-
ming met de normen en normatieve documenten, overeenkomstig de bepalingen van de EG-richtlijnen
89/392/EEG. 91/368/EEG en 93/44/EEG, onder onze exclusieve verantwoordelijkheid valt
Declaration of Conformity

We, the compnay Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, The Netherlands,
declare on our exclusive responsibility that the tool described below, to which this declaration refers,
conforms to the norms and normative documents as defined in the provisions of 89/392/EEG, 91/368/
EEG en 93/44/EEG,

Konformitétserklarung

Wir, Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Niederlande, erkléren hiermit, dass
die nachfolgend bezeichnete Maschine aufgrund ihrer Konzipierung und Bauart sowie in der von uns in
Verkehr gebrachten Ausfiihrung den einschldgigen grundlegenden Sicherheits- und Gesundheitsanfor-
dungen der EG-Maschinenrichtlinie 89/392/EEG, 91/368/EEG en 93/44/EEG entspricht

Déclaration de Conformité

Nous, la société Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Pays Bas, déclarons
que Loutil sous-mentionné, qui fait Lobject de la déclaration, se trouve, sous notre responsabilité
exclusive, en conformité avec les normes et documents normatifs conformément aux dispositons des
directives 89/392/EEG, 91/368/EEG en 93/44/EEG

Dichiarazione di Conformitd

Noi, Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Olanda, con la presente dichiariamo
che gli utensili sotto elencati, ai quali si riferisce la presente dichiarazione, sono conformi alle nor-
mative e alle documentazionie normative come da dirrettive n 89/392/EEG, 91/368/EEG en 93/44/EEG e
di questo ci assumiamo a piena responsbilita.

Overensstemmelsesattest

Vi, Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Holland, erklerer, at det her anforte
verktj, som erkleringen referer til, ene og alene star under vores ansvar i overensstemmelse med
standarderne og de normgivende dokumenter, svarende til bestemmelserne i henhold til 89/392/EEG,
91/368/EEG en 93/44/EEC

Konformitetserklaring

Vi, Rodac International B.V., Nijverheidsstraat 1, 6135 KJ Sittard, Holland, erklarer, at vi alene barer
ansvaret for verkayet som er oppfart her og som erkleringen referer seg til, i overensstemmelse med
standardene og de normative dokumentene og i henhold til bestemmelsene i 89/392/EEG, 91/368/EEG
en 93/44/EEG.

Sittard, 01-08 2015

F. CHAMPAVERE, CEO

Technische Specificaties

Technical Specifications - Technische Daten -
Données Techniques -Dati Technici - Muttertrekere -
Tekniske Data - Tekniske Data

Nijverheidsstraat 1 e 6135 KJ Sittard ¢ P.O. Box 353 ¢ 6130 AJ Sittard e The Netherlands

RODAC.COM

INFO: NL: +31 (0)46 458 2299 o BE/LUX: +32(0)2 331 34 34  D:+49(0) 3222 1681310

SAM.EU

E-MAIL NL: infoldsam-rodac.com e BE/LUX: belux@sam-rodac.com ¢ RODAC.COM




-.

SAVI GROUP

S

CREATEUR D'OUTILS

Index [Parts Description Quantity Index [Parts Description Quantity
No. No.

1 RPSM728301 Motor housing 1 19 [RPSM728119 |Front end plate 1
2 RPSM728252-21 |Rubber grip 1 20 |RPBB6000ZZ [Ball bearing 60002z 1
3 RP16401 Air inlet 1 21 |RPBB69877 Ball bearing 698zz 1
4 RPSMAS000164 [Trigger 1 22 [RP16404 Set screw 3x4 1
5 RPSM728205 Valve stem 1 23  |Take 24

6 RPSM728206 Valve bushing 1 24 |RP75-725145 Rubber spacer 1
7 RPSM728207 Exhaust diffuser 1 25 |RPSM72825 Pin 3.97x10.8 2
8 RP16402 Spring 1 26 |RPSM728126 _ |Cage 1
9 RPSM40333-12 |O-ring 6.0x1.5 1 27 __|RPSM72827 Gear 2
10 RP75-725146 Valve stem 1 28 |RPSM72828 Bushing 2
11 Take 24 29 |RPOR3290 O-ring 7.65x1.78 1
12 RPSM60312 Retaining ring 1 30 |RPBB696ZZ Ball bearing 696zz 1
13 RPBB626ZZ Ball bearing 626zz 1 31 |RPSM728131 Internal gear 1
14 RPSM728214 Rear end plate 1 32 |RPSM728132 |[Clamp nut 1
15 RPSM728215 Rotor 1 33 |RPSM72833 Washer 1
16 RPSM72816 Rotor blade 5 34 |RA8647 Drill chuck 1
17 RP0530116 Spring pin 1 34B [RA8647A Chuck keyless 1
18 RPSM728118-21 |Cylinder 1 35 |[RA8650 Chuck key 1

Nijverheidsstraat 1 e 6135 KJ Sittard ¢ P.O. Box 353 ¢ 6130 AJ Sittard e The Netherlands
RODAC.COM INFO: NL: +31 (0)46 458 2299 » BE/LUX: +32 (02331 34 34 = D: + 49 (0) 3222 1681310 SAM.EU

E-MAIL NL: infoldsam-rodac.com e BE/LUX: belux@sam-rodac.com ¢ RODAC.COM




